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10.

Calculate each quotient.

72 ) $6796.80 2. 36) $1026.00 3. 89) $5802.80
24 ) $1975.20 5. 40 ) $1980.00 6. 10 ) $228.00
87 ) $2453.40 8. 38) $1166.60 9. 36) $3369.60

If 41 identical movies cost $3747.40, how much did each movie cost?
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Dividing Money (I) Answers

10.

$ 94.40

72 ) $6796.80
—$6480.00

$316.80
—$288.00

$28.80
—$28.80

$0.00

$ 82.30

24 ) $1975.20
—$1920.00

$55.20
—$48.00

$7.20
—3$7.20

$0.00

$ 28.20

87 ) $2453.40
—$1740.00

$713.40
—$696.00

$17.40
—$17.40

$0.00

Calculate each quotient.

$ 28.50

36 ) $1026.00
—5720.00
$306.00
—$288.00
$18.00
—$18.00

$0.00

$ 49.50

40 ) $1980.00
—$1600.00
$380.00
—$360.00
$20.00
—$20.00

$0.00

$ 30.70

38 ) $1166.60
—$1140.00

$26.60
—$26.60

$0.00

$ 65.20

89 ) $5802.80
~§5340.00

$462.80
—$445.00

$17.80
—$17.80

$0.00

$ 22.80

10 ) $228.00
—$200.00

$28.00
—$20.00

$8.00
—$8.00

$0.00

$ 93.60

36 ) $3369.60
—$3240.00

$129.60
—$108.00

$21.60
—$21.60

$0.00

If 41 identical movies cost $3747.40, how much did each movie cost?

$91.40
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